
ePyfphePyfphePyfphePyfphp khtl]l ntshz] thdpiy Kd]dwpf]p khtl]l ntshz] thdpiy Kd]dwpf]p khtl]l ntshz] thdpiy Kd]dwpf]p khtl]l ntshz] thdpiy Kd]dwpf]f kly]f kly]f kly]f kly]    

btspaPL:btspaPL:btspaPL:btspaPL:----    jkpH]ehL ntshz]ik gy]fiyfHfk]/ njhl;lf;fiy Muha;r;rp epiyak;/ cjif.jkpH]ehL ntshz]ik gy]fiyfHfk]/ njhl;lf;fiy Muha;r;rp epiyak;/ cjif.jkpH]ehL ntshz]ik gy]fiyfHfk]/ njhl;lf;fiy Muha;r;rp epiyak;/ cjif.jkpH]ehL ntshz]ik gy]fiyfHfk]/ njhl;lf;fiy Muha;r;rp epiyak;/ cjif.    

& ,e]jpa thdpiy Muha]r]rp ikak,e]jpa thdpiy Muha]r]rp ikak,e]jpa thdpiy Muha]r]rp ikak,e]jpa thdpiy Muha]r]rp ikak]]]]    
        njjp :njjp :njjp :njjp : 11118888.1.1.1.12222....15151515 

rkPgfhyj]jpw]fhd thdpiy mwpf]if:- 

1. rkPg fhyj;jpy; khtl;lj;jpy; rpy ,l';fspy;  kpf nyrhd kiH bgwg;gl;lJ.  

3/ jl;gbtg;gk; kw;Wk; fhw;wpd; <ug;gjk<! .! mjpfgl;r btg;gepiy! 18º-21º! br. kw;Wk; 

Fiwe;j gl;r btg;gepiy 7-10º br.  Mf ,Ue;jJ.  fhiy neu fhw;wpd; <ug;gjk; 79-81% 

kw;Wk; khiy neu fhw;wpd; <ug;gjk; 84-94% ,Ue;jJ. fhw;wpd; ntfk;  

2-8 (fpnyh.kP./kzpf;F).  !

    
    thdpiy rhh;e;j rhFgthdpiy rhh;e;j rhFgthdpiy rhh;e;j rhFgthdpiy rhh;e;j rhFgoooo    Fwpg;Fwpg;Fwpg;Fwpg;g[g[g[g[fs; fs; fs; fs;     

• khtl;lj;jpy; Ie;J ehl;fSf;F kiH tuhJ vd vjph; ghu;f;fg;gLfpwJ.  
• kpsFr; bro eltpd; nghJ brof;F 50 fpuhk; l;iunfhblu;kh 50 fpuhk; R{nlhnkhz!; 

50 fpuhk; ntu; cl;g{rzk; ,l;L elt[k;.  
• kz;zpy; ntu;g[G bjd;gl;lhy; ypz;nld; 1.5 rjtPj J}is 10fpnyh/bQ vd;w 

mstpy; J}tp tplt[k;.   
• njapiyr;broapy;  rptg;g[ rpye;jp g{r;rpia fl;Lg;gLj;j g;buhg;ghu;ifl; my;yJ 

g;ug;gndhgh !; 2 kpy;yp / xU ypl;lu; jz;zPUf;F vd;w mstpy; fye;J bjspf;ft[k;.   

 
 
• nguhrphpah; kw;Wk; jiyth; 

njhl;lf;fiy Muha;r;rp epiyak;/ cjif 

thdpiy Fwpg;g[fsthdpiy Fwpg;g[fsthdpiy Fwpg;g[fsthdpiy Fwpg;g[fs << << 19.12.15 20.12.15 21.12.15 22.12.15 23.12.15 

kiH (kp.kP) 0 0 0 0 0 

mjpfgl;r jl;g btg;gk; (0 br.) 29 29 29 29 29 

Fiwe;jgl;r jl;g btg;gk; (0 br.) 20 20 20 20 20 

nkf\l;lk; (Xf;lh) 2 2 2 2 2 

mjpfgl;r fhw;wpd; <ug;gjk; (%) 
88 88 88 88 88 

Fiwe;jgl;r fhw;wpd; <ug;gjk< (%) 
70 70 70 70 70 

fhw;wpd; ntfk; 
(fpnyh.kP./kzpf;F) 

6 6 6 6 6 

fhw;wpd; jpir 140 140 140 140 140 


